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Sentence Match Quiz for Category: food_1 
Mark the sentence that matches each item below. 

1) Tú pides leche.
- A: The cherry is red.
- B: Do you want fish?
- C: You ask for milk.
- D: How much is an ice cream?

2) ¿Cuánto cuesta un helado?
- A: You ask for milk.
- B: Why do you buy peaches?
- C: He gives cookies to the cat.
- D: How much is an ice cream?

3) agua con hielo
- A: water with ice
- B: You ask for milk.
- C: How much is an ice cream?
- D: Karina finishes to eat (eating) lunch.

4) Nosotros servimos la sopa.
- A: We serve the soup.
- B: Do you drink coffee?
- C: Soup and bread are hot.
- D: The banana is sweet.

5) La cereza es roja.
- A: The cherry is red.
- B: How much is an ice cream?
- C: The soup is neither hot nor cold.
- D: We choose the vegetables.

6) ¿Por qué comes ajo?
- A: You ask for lunch.
- B: I prefer vanilla ice cream.
- C: Why do you eat garlic?
- D: There is no coffee.

7) ¿Tomas el café?
- A: Do you drink coffee?
- B: Soup and bread are hot.
- C: You ask for milk.
- D: He gives cookies to the cat.

8) La comida basura no es saludable, ¡pero a los niños les encanta!
- A: Junk food is unhealthy, but children love it!
- B: We serve the soup.
- C: The soup has beans.
- D: Why do you eat garlic?

9) La sopa y el pan están calientes.
- A: How much is an ice cream?
- B: water with ice
- C: Soup and bread are hot.
- D: I play in the park after lunch.
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(continued) Sentence Match Quiz for Category: food_1 
Mark the sentence that matches each item below. 

10) La sopa no está ni caliente ni fría.
- A: The soup is neither hot nor cold.
- B: I prefer vanilla ice cream.
- C: The cherry is red.
- D: How much is an ice cream?

11) Él sirve las papas.
- A: Junk food is unhealthy, but children love it!
- B: He serves the potatoes.
- C: How much is an ice cream?
- D: The soup has beans.

12) Tú pides el almuerzo.
- A: We serve the soup.
- B: The watermelon is delicious.
- C: She serves the ice creams.
- D: You ask for lunch.

13) Yo no quiero helado.
- A: How much is an ice cream?
- B: water with ice
- C: I don't want ice cream.
- D: You ask for milk.

14) Yo prefiero el helado de vainilla.
- A: I play in the park after lunch.
- B: I prefer vanilla ice cream.
- C: She serves the ice creams.
- D: The soup has beans.

15) Las bananas son dulces.
- A: We serve the soup.
- B: The bananas are sweet.
- C: Karina finishes to eat (eating) lunch.
- D: Junk food is unhealthy, but children love it!

16) El filete para mí, por favor.
- A: You ask for milk.
- B: How much is an ice cream?
- C: The steak for me, please.
- D: You serve the salad.

17) Ella sirve los helados.
- A: We serve the soup.
- B: How much is an ice cream?
- C: You ask for milk.
- D: She serves the ice creams.

18) La sopa tiene alubias.
- A: You serve the salad.
- B: The soup has beans.
- C: You ask for milk.
- D: The cherry is red.
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(continued) Sentence Match Quiz for Category: food_1 
Mark the sentence that matches each item below. 

19) Yo juego en el parque después del almuerzo.
- A: I play in the park after lunch.
- B: You ask for milk.
- C: Do you drink coffee?
- D: Why do you buy peaches?

20) No hay café.
- A: Junk food is unhealthy, but children love it!
- B: There is no coffee.
- C: The soup is neither hot nor cold.
- D: Karina finishes to eat (eating) lunch.

21) Karina termina de comer el almuerzo.
- A: Karina finishes to eat (eating) lunch.
- B: How much is an ice cream?
- C: You ask for milk.
- D: water with ice

22) Nosotros elegimos las verduras.
- A: We choose the vegetables.
- B: You ask for milk.
- C: Junk food is unhealthy, but children love it!
- D: Soup and bread are hot.

23) Salen a cenar los sábados.
- A: How much is an ice cream?
- B: They go out to have dinner on Saturdays.
- C: Why do you buy peaches?
- D: water with ice

24) Tú sirves la ensalada.
- A: Junk food is unhealthy, but children love it!
- B: Do you drink coffee?
- C: You serve the salad.
- D: You ask for milk.

25) Los niños no toman café.
- A: Children don't drink coffee.
- B: How much is an ice cream?
- C: The soup has beans.
- D: water with ice

26) Él da galletas al gato.
- A: He gives cookies to the cat.
- B: How much is an ice cream?
- C: Soup and bread are hot.
- D: Do you drink coffee?

27) La sandía está deliciosa.
- A: She serves the ice creams.
- B: The watermelon is delicious.
- C: The steak for me, please.
- D: The soup is neither hot nor cold.
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(continued) Sentence Match Quiz for Category: food_1 
Mark the sentence that matches each item below. 

28) ¿Quiere pescado?
- A: You ask for milk.
- B: Do you want fish?
- C: water with ice
- D: The soup is neither hot nor cold.

29) El banano es dulce.
- A: He gives cookies to the cat.
- B: We serve the soup.
- C: You serve the salad.
- D: The banana is sweet.

30) Ellas sirven las uvas.
- A: You ask for milk.
- B: She serves the ice creams.
- C: They serve the grapes.
- D: I play in the park after lunch.

31) ¿ Por qué compras melocotones ?
- A: I play in the park after lunch.
- B: Why do you buy peaches?
- C: The soup has beans.
- D: You serve the salad.

32) Carmen elige el dulce.
- A: There is no coffee.
- B: The soup has beans.
- C: Carmen chooses the candy.
- D: The steak for me, please.



Name:_______________________________________________ Date:______________

Copyright © 2025 - 123TeachMe.com 4f64c 5

Answer Key for Worksheet 4f64c

Sentence Match Quiz starting on page 1
1 = C , 2 = D , 3 = A , 4 = A , 5 = A , 6 = C , 7 = A , 8 = A , 9 = C , 10 = A , 11 = B , 12 = D , 13 = C , 14 = B , 15 = B , 16 = C ,
17 = D , 18 = B , 19 = A , 20 = B , 21 = A , 22 = A , 23 = B , 24 = C , 25 = A , 26 = A , 27 = B , 28 = B , 29 = D , 30 = C , 31 =
B , 32 = C


